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a—K | 4 k| PR (kg) &% (H) = i 2 FE (BEfL)
V3002 =4 (&) Y 13,111] 1,296 1,080 130 | B ldkg
32710 | LI 1 29 11| 11 11 BH 23k o
31700 F XY 60 4, 752 864 756 756 | &N 64— A
31900 X 6 2, 268 432 378 324 | BN 6kg
34300 72 9 54 5 5 5 BM 107
34308 HHF 1 32 11 11 IRR=10 BY:N
34330 Ep 1 27 5 5 5|8 5
34400 k= k 28 7, 646 292 270 270 | BN 28kg
34140  PYEEH I 6 1,134 38 38 38| BN 30K
34230 % OV RSN 2, 990 473,356 | 306,446 306,446 166,911 | &N 210
Y3125 AR (< b fFE) 9, 520 1,491,715| 370,399| 75,521 14,579 | &H 15|
34500 E—<i 27 3,337 | 130 130 65| BM 2Tkg N
36200 EE 40 2, 700 76 65 59 | BN 40kg
36600 7mERE 60 6, 480 108 108 108 & 60kg
34764 |SF— L KT v 18 5, 227 97 86 86| B 604
34930 LA 13 1,538 65 24 24| B 427
34800 < b 5 3, 467 76| 76 65 BN 49F% v K
37520 KU * 23 4, 396 76 76 27| BN T8
44500 +b b 18] 2,138 119 119 119 | B 74 18kg
49470 Ry mvTA—Y 5 4, 666 97 97 97 BN 481H -
71040 ENE 1,512 . 86 65 65 BN 214 |
71150 | LiT 648 | 54 54 11 &N 203
53456 - A7RlE 3 927 356 356 356 | BN 3kg
30100 72WZ A L 20 5,616 2, 808 2, 808 2,808 |EEIRE 2 —R
30300 A% L 60 6,480 1,080] 1,080 1,080 f& 64 — %
30400 ZUE D 10 2, 495 76 76 76 FEIE 334%
31100 EX L 15 3,024  3,024| 3,024 3,024 E& 1dr—2
31100 EX M 30 3,240 1,620 1,620 1,620 E% 24— 2
Y3015 7 ¥ g 648 32 32 32| ERE 2048
Y5005 4 7K3E A 5 1,534 1,534 1,534 1,534 K4y 12re=2
32600 £% 4 108 5 5 5| & 204%
31700 % ¢~ 160 7,506 756 432 432 | B 1647 — =
31800 I HINAE 16 10, 152 173 97 97 \BEIRE 804%
31900 72X 10| 2, 246 162 86 86 IR B 203 (500g)
31930 “h¥ 2,592 49 | 49 38| EEIR B 6048
32800 125 432 11 11 N 403
34300 754 40 11,232 1,620 1,296 1,296 BEA 84— =
34400 | k= K M 1,728 864 864 864 | IR B 24— 2
34460 I=L E L 2,279 140 97 97 | FEIR B 218y 7
34100 AL L 10 3,240 1,620| 1,620 1,620 fEA P —
34520 Kb —=< L 2 216 | 216 | 216 216 | RS 17—
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36203 ﬁﬁ‘ﬁi“ﬂwb; L 20 2, 808 1,404 1,404 1,404 FEIR & 247 — A
36600 7= FrX ~ l2s | 220 10, 368 1, 080 864 864 1B 114 — 2
37200 Lk 9 A8 oL | 4 1,296 1,296 1,296 1,296 14—
Y3092 ALY —U—7 4 2, 592 130 130 130 | BB IR B 204%

33600 <t U 0 756 378 378 378 | 5B 248 N
33300 Tmval— 6 4, 968 248 | 248 248 | B 201H

38100 AL =i 8 3,672 49 | 49 43 EI 80,35 7
33100 7 A5 H % L 1 2, 484 248 248 248 £ 103

34980 ~bE 6 1,944 97 97 97 |ERE 204

31310 AT 4] 2,160 108 108 108 | 4@ [t 2048
31500 /MASE 4 1,83 1,836 1,836 1,836 L5 1r—2 |
31500 /a3 8 2, 700 76 76 59 EIRE 4088

32500 FHIF 1 535 59 59. 59 | K4y 95

36340 L _REIE It 5 594 119 119 119 BER B 5kg

37560 BI5IE I 756 108 108 108 | K4y TRy
30910 75 4 v 4 432 22 7 22 IR 2048

38400 2D EE 5 1,728 1,728 1,728 1,728 | B8 1r—2 |
38521 KR LHUE 6 6, 480 108 108 108 | & [ 604

42320 YaFIT— K 10 6,264  6,264| 6,264 6,264 Hi 1r—A |
45220 FS U7 9 1,987 248 | 248 248 | 4G 7 83y
44000 % 1 7 5, 465 248 | 248 248 | BEA 2y s
46108 | ENEOMNEE M 2 891 | 178 178 178 |EIR B 5,8y 7
49100 | NFF 12 3, 888 3,888| 3,888  3,888| 74 Ut 1HF—2=R
44700 F = Y — 7 2,592 1,296 1,296 1,296 | (L 24—
44700 Fx ) — f M 14 10, 973 270 238 205 | LI 4857 |
39870 Z i | 0 28,185| 28,185 28,185 28,185 AE 1L
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